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90 - loo 9 120

80 - 89 32 111

70 - 79 43 79

60 - 69 21 36

50 - 59 11 1 5

40 - 49 3 4

30 - 39 1 1

120

adh  y = 120 x 3
4

J&j* yJ 120 x 1= 4

= 30

L = 59.5 ; c f = 15

fQ =  2 1 ; I = 10

Ql = 59.5 + (30,15) 10

= 59.5 + EfJ
21

= 66.64
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Q, =L+ 4

fQ

= 90 ; L = 79.5 ; C f = 79;fQ  = 32

Q, = 79.5 + (9y) 10

= 79.5 t $ = 82.94

PJ)
M e = L+(Y;“‘),

m

8 =!zo2 2 ; L 69.5 ; x= f = 36 fm = 43

= 60
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%Ub&l N x 72
-is-=

120 x 72
loo

= 86.4 ; Z f = 79 ; L = 79.5

f P = 32

P7 2 = 79.5 +
( 86.43;  79 lo1

= 79.5 + 2.31

= 81.81

(Q> P,,  adwfil‘uo~~ul;i N lxm3o = 36

P,, 6ihi,%O~flUd  N lxw72  = 86.4

:.  o”lu-ru8”ii”ul~o~s~nilJ  P,, - P, = 86.4 - 36 = 50.4 = 50 ‘tW
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r = fp?)  +xf x lM)
N
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‘LWkJ  X = 81 ; L = 79.5 ; fp = 32 ; Z f = 79

32 *l ,,“.”( 1 + 79
r = x 100

120

= 69.83 = 70
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